Math 20300
Calculus 111

Lesson 1
The Three Dimensional Coordinate System

Dr. A. Marchese, The City College of New York

Bookmarks have been added to this video
at the following times:

1. Axes and plotting points 00:19 p.2
2. Planes y=3 y=x,2=5 08:18 p.4
3. Distances 1225 P.6
4. Spheres 18:28 p.9
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Work on this problem
on your own

\PQ = J—\ 924»(\_-\\"—\(1,7)2 = S-’-&Jrkﬂ—o s Y2

|ee) = | (-0 > A4S - Jorgay =%
e = mﬁ“ f(a-D)" = Jusora = I%

\/QS) DVSL o Lﬂ)u'\\pﬁ-—mﬂ

@.Y. ;\\r\d\% AnsYEN %\M P\)\:/\:‘\' (3\"\@)
o ) e W= Plos i
Q M X CX\S

L%\'\Ql I d

&3 \6? p\G/V\Q (= x=0 7(2,0,9)




?O\\I\-'\ M Z ww, W \j% ‘?\0«\/\JL

\f) Rg-gﬁ,,(-\-o\%r(z/o? = jo—m-\-u = s,

Sp\z\.or-w

\V\Wf‘) v\ = set ?o\‘w\’n Aalu\m«* &/w QA S\W
\Z Lot Pt ( )f\‘\L)

iW“£>, S?\Nev{ = $RA ‘% (\)b\V\“C/J )Uﬂuudlv)\_avt\' ,Q/W\/\

%

&.—
N (’3\\/-0\/\ Wy DA € Rdiws

(i, 1)

Lo (%93) o~ sQ~ere

VW r (o + @D = €

(e > (4= *(-0) = 7



éé‘o&o:huv\ ?4/\,\1 Jgﬂr\pv—e Cende~d o (A,k,ﬂ}

MW A s y ('\(—-\Ql"'(\ﬁ—\‘xl ‘\_(?_9_?— = ¢*

&, AL TN Gavses gnd (U\é\Mc/\{

XQ"L&X—HA?' ‘\'8\5-\-‘?—2——\0% =3

2
K-Y% a4 + 02 +Sutle + 27—z 4a = 3 +4Hb¥
(X—zﬁl & @\5*%)1 > (3) = 32

X*—dx xY yrture 2Tk



